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7.1 N1SIASI=KNIShALNUNSWYaU (KU1 141-143)

{

]
|

WSyuINgU AW, AU AW, T
dgunaskan AW = -P(A/P.i%k.n) - A + SV(A/F.i%.n)
7.1.2 35 Opportunity Cost Approach [

LuNAaUaJItnsUaJIUU lag P UoJ defender 9=(3 trade-in unu

—trode—ino(n/P,i%,n) - A, + SVD(n/F,i%,n)

-initial costc(n/P,i%,n) - A, + Svc(n/F,i%,n)

§9IN1SBOIAS0IINSTKI S1A1 20,000 UIN STUfisNATRIASoJIAN 4,000 UIN }_

P y9J defender = 4000 P udJ challenger = 20,000




 $20810 7.4 Tsuusu ABC IdBoindasrindhudado 3 UALAD usnan 12,000 U MAdKED
919N15t8IUBN 10 U YadsIndnn 20% u9I51ANBURAU ANE9Nes 8T 3,000 uan TATE
dntauatn30Irindnudatuutkiiusani 11,000 uan 91gn1stdanu 10 U yaansanidan 2,000
uTn wa=AnEg1eseU 1,800 UN MISJISUNNAIBDINSOIKLTEUEBUASUBD 1nSaJrinunudy
ITUSIAN 7,500 LN 9JANWINISNALINUNSWEEUSioTUT A MARR = 18%

NSaHU | 1ASOITKY

s1ASUsiU (Uan)
san1SuBoalnSodau trade-in (U1n)
A18919s19U (u1n)

yaaAsan (uan)

) (U)




MARR = 18% 1NS0JIF 1050

S1ASUSU ,UN 12,000 11,000

b
[

s1ASUBoIASoIAU (trade-in) 7.500
AN18919519U ,uTNn 1,800

JanA1sn ,uln 2,000

oy, U 10

| 58 opportunity Approach

AW, = —trode—inD (A/P,i%,n) - A, + SVD(n/F,i%,n)

AW, = -7,500(A/P,18%,10) -3,000 + 2,400(A/F,18%,10) = -4,566.75

-initial cost, (A/P,i%.n) - A+ Svc(n/F,i%,n)

AW_. = -11,000(A/P,18%,10) -1,800 + 2,000(A/F,18%,10) = -4,162.5
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7.1 N1SIASI=KNIShALNUNSWYaU (KU1 141-143)

[
t

]
]

WSguiigu AW, NU AW,
daunaskan AW = -P(A/P,i%.n) - A + SV(A/F,i%.n)

7.1.3 35S Cash-Flow Approach 219N1st3IUADIININU

i IUAn P yaJ defender o=AndousinuRdneIEuYad Challenger il

UL _nD + SVD(H/F'i%,n)

~-(initial_ - trade-in ) (A/P,i%.n) - A_ + SV_(A/F,i%,N)

§9IN1SBOIAS0IINSTKI S1A1 20,000 UIN STUfisNATRIASoJIAN 4,000 UIN

P v9J defender = O P udJ challenger = 20,000-4,000 = 6000




MARR = 18% 1NS0JIF

b
[

s1ANSUBOIAS0JIEL (trade-in)

AN18919519U ,uTNn 3,000

Nan1dan ,uin 2,400

v

.
3S Cash Flow Approach

AW. = - A + SV(A/F,i%,N)

()

AW = -3,000 + 2,400(A/F,18%,10) = -2,898.75

- (initial, - trade-in,) (A/P,i%,n) - A + SV(A/F,i%,N)

1n30JTKL
11,000
7,500
1,800

2,000

10

D
=
]
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-(11,000-7,500)(A/P,18%,10)-1,800+2,000(A/F,18%,10) (= -2,493.5



I 7.2 N1SK19189v9INSWIRUNIKUAdURFAIEoNISNALNU “
II (Economic Service Life : k*) (kun 145) ||
AW Total AW
II \r/ AW of AOC II
Il : AW of Investment Il
' Year
II eEconomic Service Life II

II AW, = -P(A/P,i%kK) + SV(A/F,i%K) - [2AOC,(P/F,i%j)(A/P,i%,K)




1l $12981JN 7.6 1n30I9NSToUNTUSIAN 13,000 UN ANEIEs18TLEYaANBINUSUNCUTIRNW

MMSAITIIET) 0IKNDIYNSIBINURIKIN=EY (economic service life) i = 10% sioU

T EFEY
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K=1 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800
9000

I 2500 II
I \ 4
|| 13000 Il
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2 8000 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800

>
b |t B _ . e
‘L' 919 , U yanisan , uan | ANlE019s19U , uan
2500
13000 2 | 800 2799
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II K=2 8000 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800 II
A
II E > AW, = [-13000 -2500(P/F,10%,1) - 2700(P/F,10%,2) II
V f +8000(P/F,10%,2)1(A/P,10%,2) = -6,276

2500
2700
II v II
|| 13000 II




K=3 6000 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800

A
b > AW, = [-13000 -2500(P/F,10%,1) - 2700(P/F,10%,2)
l‘l 12 \: +8000(P/F,10%,2)1(A/P,10%,2) = -6,276

2500

2700 3000
v
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“ K=3 6000 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800
A
|I C > AW, = [-13000 -2500(P/F,10%,1) - 2700(P/F,10%,2) II
lﬂ lz j +8000(P/F,10%,2)1(A/P,10%,2) = -6,276
2500 2700
II 3000 AW3 = [-13000 -2500(P/F,10%,1) -2700(P/F,10%,2) II
v - 3000(P/F,10%,3)+6000(P/F,10%,3)1(A/P,10%,3)

13000
II - -6,132 Il



=4 2000 AW, = 9000 -2500 -13000(F/P,10%,1) = -7,800

B > o1g , U [CHRUER VTR, 107,2)
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K=4 AW, = 9000 -2500 -13000(F/P,10%,1) = ~7,800
2000
|I r > AW, = [-13000 -2500(P/F,10%,1) - 2700(P/F,10%,2) Il
lﬂ lz f +8000(P/F.10%,2)1(A/P,10%,2) = 6,276

2500 2700
II 300035455 AW, = [-13000 -2500(P/F,10%,1) -2700(P/F,10%,2) II
\ 4

- 3000(P/F,10%,3)+6000(P/F,10%,3)1(R/P,10%,3)
| ™ oo ||

AW, = [-13000 -2500(P/F,10%,1) -2700(P/F,i%,2)
II - 3000(P/F,10%,3) - 3500(P/F,10%,4) I
+2000(P/F,10%,3)1(A/P,10%,4) = - 6,556

II dJuu economic service life = 3 U |I
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II NISTKAzuUU II
* (T %Y - Y - by -
II K* (UQnAoy) ua: Aw,, gndo) P AW, Ua: Aw,,,, QNFid) 6 AU II
Aw,, Uduq Qnsiag 9Ma: 2 AlUU UINAEA 4 A=liUU

II Aw, = -1483.524/ 2 Azlluu II

Aw, = -1219.15 X 10 A=llUU
|| Aw, = -957.84 Vv Il

Aw, = -828.33 \/ economic service life = 8 \/ 6 A=lluU
Il Aw, = -878.15 &/ |I
II Aw, = -937.81 &/ 2 Azuuu |I

Aw,, = -957.08



I P I I T T I I P I P
I I N S N I T T I Y P
II N1stkA=1UU II
II K* (UQnf19J) ua:z AW, QNFIDJ # AW, llaz AW,  QNA9J 6 AzlluU II
Aw,, Uduq Qnsiag 9Ma: 2 AlUU UINAEA 4 A=liUU
II AW, = -1,483.52 II
Aw, = -1,219.15 4 AtlluU
|| AW, = -957.84 )( “

Il Aw, = -828.33 \/ economic service life = 8 \/ 2 Aslluu |I

AW, = -878.15 v/ 2 A=lluu
AW, = -937.81
AW,, = -957.08
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